


Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrou

R e e Th j t
A EEEEEEEEEEEEEERE ere are adjacent (upper row)

amm's'aalnials als's s alsln and separate grey samples (lower row).

e This gives eight grey series.
LI [ 1] ][] 1] Ineachcolunme the four adjacent greys
H N RN e shouldbeequal.
The four grey series are defined by four

different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/N
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A-030-1



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
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0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-030-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

ol LU L L[] ][]

o L L L] [ [ []]

There are adjacent (upper row)

and separate grey samples (lower row).
This gives eight grey series.

In each colunme the four adjacent greys
should be equal.

The four grey series are defined by four
different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3

Black N and White W in mean grey backgrounhd.

1



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
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0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-031-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrounhd.

R e e Th j t
A EEEEEEEEEEEEEERE ere are adjacent (upper row)

amm's'aalnials als's s alsln and separate grey samples (lower row).

e This gives eight grey series.
LI [ 1] ][] 1] Ineachcolunme the four adjacent greys
H N RN e shouldbeequal.
The four grey series are defined by four

different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3 2



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
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0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-032-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

ol LU L L[] ][]

o L L L] [ [ []]

There are adjacent (upper row)

and separate grey samples (lower row).
This gives eight grey series.

In each colunme the four adjacent greys
should be equal.

The four grey series are defined by four
different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3

Black N and White W in mean grey backgrounhd.
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-033-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrounhd.

R e e Th j t
A EEEEEEEEEEEEEERE ere are adjacent (upper row)

amm's'aalnials als's s alsln and separate grey samples (lower row).

e This gives eight grey series.
LI [ 1] ][] 1] Ineachcolunme the four adjacent greys
H N RN e shouldbeequal.
The four grey series are defined by four

different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3 4



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
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0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-034-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

ol LU L L[] ][]

o L L L] [ [ []]

There are adjacent (upper row)

and separate grey samples (lower row).
This gives eight grey series.

In each colunme the four adjacent greys
should be equal.

The four grey series are defined by four
different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3

Black N and White W in mean grey backgrounhd.
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-035-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrounhd.

R e e Th j t
A EEEEEEEEEEEEEERE ere are adjacent (upper row)

amm's'aalnials als's s alsln and separate grey samples (lower row).

e This gives eight grey series.
LI [ 1] ][] 1] Ineachcolunme the four adjacent greys
H N RN e shouldbeequal.
The four grey series are defined by four

different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3 €



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-036-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitions

| EIEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrounhd.

R e e Th j t
A EEEEEEEEEEEEEERE ere are adjacent (upper row)

amm's'aalnials als's s alsln and separate grey samples (lower row).

e This gives eight grey series.
LI [ 1] ][] 1] Ineachcolunme the four adjacent greys
H N RN e shouldbeequal.
The four grey series are defined by four

different PS-operators.

Black N 16 steps White W

This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be egllighéi6 steps.

| IHEEEEENENEEEREN

Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":
Is row no. 3 most different compared to all others ? underline: Yes/Ng
Are the series no. 1, no. 2, and no. 4 equal? underline: Yes/No
Only in case of "No™:
Are the rows no. 2 and no. 4 equal ? underline: Yes/No

Remarks, e. q. other equality: .......ccooceveevieeeiieeene

Part 1 OE740-3A- 0 3 7



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE740-3A-037-2: File: Measure unknown; Device: Device unknown; Date: Date unknown




